Chemical Equilibrium  ond hydrogen

1. Which of the following 1s an Irreversible
teaction.

vG. Neuttalisation of strong acid Vs Strong base.
b. Neutralisation of weak acid Vs Stivng base
c. Neutralisation of stiong acid Vs weak base
d. Neutralisation of weak acid Vs weak base .

- for the reaetion A+ 2B <= 3C, the GCTU‘II!'b“Um

(onstant K- 1s given by
o (A T ® sl g
SE (4] (B)> A1 r5]° (A) + (8]

3
(]

-«

3. for the dissociation of HI, the equilibtium
(onstant 1S found 1t be 0.25 . Wwhat twould
be the equilibrium Constant Afor the formatien

of HT 7

4. for an exothermic reaction,
a. K is Independent of temperature.
L. K thcreases as temperatue  increases.

v~ k decteases ac Wuﬂue NCQ &S .
d. K vaaes with addition. of teactants




s. for te taction No + 34 = 2NH;5 the
value of ke depends upon.

a. Initial Conec. of kactantr

L. Prssowe - ¢ ‘ce/mpelfa’twe d. all of +those

6. for an endo Hetnmic Féacﬁon@ leu'ul'rbﬁum
He formation of ]thduct Can be [hCrased b;,

g Inciasing temperature b lowering temperature

Al K@ﬂ%hg f:cm]owafum (onStant
d. deckasing the (onc. of kactant .

for the taction, nA + mB —> Productg

: i accordane 4o law of Mass Actian .
a. Bat = k[A)" +(B]Y
b el =k P eI
. Rak - k4 {W"EI"
Vd. Rab = Kk ([A]I"(BI™

g. The telation betweon kg and Ko for
Nagy + Bthgy = 2Nihy, 1S
LY. kf - b. k]b: BT N
T kp= ke(RD d. kp= ke®D

q. The equilibtium Constant for tho teaction
. &S0yt NO2ggy = 2S034 NO ry)
IS 16, what will e the equilibtrium C(onstant
for He ttaction 250, + 2NO, == 250; +2N0

a. 16 b 32 “C. 256 d.g4




0. The equilibtium Constant 4or the rea ction

Na + 3 == 2NH sk Hun e
€q. Cmst For Hue e_gyu":li!oﬂum,

NiE <= LN + 2 H 15
CL']'; B C.VE  d L
VK

. The Conc. of x i and Xzy e <, 2 am
2 moles tespectively - The value of ko hy
the equilibrium

2 XA Y = Wy dE

O O B25 b WEEES C. 6.25 d. 0.00625

2. To which of the fsllowing, O <twalds
dilvtion law is applicable .

a~ Chy (oo b, Hcl C. HNO; d. hSOx

B8 The values of dissociation Qnstant of
acde @ 2s’C e gun beloco . Tdentrty
the <tipngest aad in aq. medr q ?

el b xi10” < b 1.6 x10 T

c. 4.ux16° o dog.3x 0

4. The degree of Ionisaton of a Substane
a decicases with dilution

. Increoses with dilution
C. May Increase / doctease coith dilufion

d. is"not aftected with dilution




1s. The e,cafu';l}bnum which. kmdins  unatfected
L)é pHSSUIt Chang@ A "
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C 2030y = 30

d. ZNOL(g)ﬁ Nz@4(9)

6. FH value of N NaoH Solutich 12

LO o
a. 1o b1 & 125 d. |3

7. A Solution of CHyCooH n watr (ontans
a. CthcooH and CHCoo
b. Chy(o0H, CH o6 , Ho
vC. CH(ooH, CHyCo6, Hot , ot
d. None o
8- What 15 the Gnjugate bae of o™
a. O, b. Ko ¢ o d. 0
19 1 Tonic fh@c% of watet [5,%(M01/L)2
Wwhat s hadmgm don (nc. of 0.1Mm Naotl gln)

v

o. 153 b.o16'"m  cogm 413wy

B

0. Te Solubility of AxBs IS 'S mol /L, Yy
Solubility Produck s . e

s 68% b 648% ¢ 36¢% 4 10887




